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Chapter One
1 THE PATTERN

Choose the correct answer
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Choose the correct answer:

1) 10 20 30 40 S0 60
a. 50 b. 20 c. 70

(2) S 10 15 20 25 30

4) 20 30 40 50 60 70
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- =6
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- =6
- =6
- =6
- =6
- =6
- =63
- 6
- =63
- 56
- =63
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- =63
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- =63
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® a. 20 b. 26 o
® c. 30 -
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Complete the pattern using colors




2 REPRESENTING DATA

Choose the correct bar graph
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3 MEASURING LENGTH

Complete the table:

length

Bars

No.

.. CIMn

(1)

.. CIm

2)

... CIMN

)

.. CIm

4

.. CIm

)

.. CIM

(6)

.. CIm

(7)

.. CIm

®)

.. CINn

)

.. CIm

(10)

£5
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Look at the images below, and then complete the table:
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Choose the best answer:
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(1) Ferris Wheel

L7

N\
)

a. 30 centimeters
b. 3 meters

c. 20 meters

(2) Screw

a. 20 centimeters
b. 1 meter

c. 3 centimeters

(3) Building

a. 300 centimeters
b. 3 meters

c. 30 meters

(4) Flash Memory

a. 6 centimeters

(5) Horse

a. 90 centimeters

(6) Key

a. 15 centimeters

a. 5 centimeters
b. 5 meters

c. 25 centimeters

a. 30 centimeters
b. 1 meter

c. 50 centimeters

b. 30 centimeters b. 2 meters b. 5 centimeters
c. 20 centimeters c. 30 centimeters c. 5 meter
(7) Notebook (8) Recliner (9) Can of Beans

a. 120 centimeters
b. 3 meters

c. 10 centimeters
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Choose the suitable answer
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IS5emlong 50 cmlong | m tall 10 m tall
— ! &
3. [ ] - 4. Salt
3 cm long 3 m long j IOmtall 10 cm tall
— T~

Estimate the length then complete:
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Chapter Two
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1 THOUSANDS

Write the correct number:

Thousands Hundreds Tens Ones
The
number
The value and the place value
Iamin the | Tamin the ITaminthe | Iaminthe | I amin the | I am in the
hundred ten

thousands hundreds tens ones

thousands thousands lace lace lace lace
place place P P P P

My value is
200 000

My value is
40 000

My value is
1000

My value is
900

My value is
80

My value is

=60
=60
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=60
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=60
=60
=00
=60
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Write the value and the place value of the red digit:

The number

The place value

The value

245 136

Thousands

5 000

368 132

703 201

300 109

623 871

36 950

79 456

9 234

652 348

14 369

258 963

1 965

700 000

150 000

784 596

451 263

102 000

)
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)
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=6)
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=63
=0)
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=63
=0)
=63
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=03
=63
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=63
=03
=63
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Standard form

Expanded form

245 136 =

200 000 + 40 000 + 5000 + 100 + 30 + 6

368 132

703 201

300 109

623 871

36 950

79 456 =

9 234

3 001

600 000 + 50 000 + 2 000 + 300 + 40 + 8

10 000 + 4 000 + 300 + 60 + 9

200 000 + 8 000 + 900 + 3

1 000 +900 + 60 +5

700 000 + 200 + 4

100 000 + 50 000 + 90

20 000 + 900 + 8

600 000 + 20 000 + 3000
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Complete using (<), (>) or (=):

[23 456 () 33 456 ] [34 901 () 21 479 ]
[10 478 () 9 876 ] [124 200(0)321 100 ]
[987 1430 976 143 ] [801 9000 800 000 ]

[ 652430 60 000 + 5000 + 200 + 40 + 3

32469OQOOOO+1000+400+60+9 ]

93 241 OBOO 000 + 20 000 + 300 + 20 + 1

[503 236 O 500 000 + 3000 + 200 + 30 + 7 ]

600 500 O seven hundred thousand
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Order from smallest to greatest: I

O 426178 , 320 198 , 102 329 , 258 987

) B R R RTTRIT T 3

® 536279, 92 358 , 120 350 , 471 084

g B RN P P R P PP P E PP PRI TEP PP .

—
Order from greatest to smallest:l

O 426178, 320 198 , 102 329 , 258 987

e g B RN P PP R PP PP PP PP IEP PRI .

® 536279, 92 358 , 120 350 , 471 084

©® 321 273, 900 000 , 400 329 , 200 900
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2 ARRAYS
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M %
® =
* =
& =
& =
® =
& =
& =
& =
& =
& =
= =
@ @
= =
@ &«
= =
@ &«
= =
@ &«
= =
@ &«
= =
& &«
= =
& &«
= =
& =
= =
& =
= =
& =
= =
& =
= =
« =
= =
e Number of rows: ... Number of rows: ... @
P Number of apples in each row: ... Number of cupcakes in each row: ... =
@ : =
- Total number of apples: ... Total number of cupcakes: ... ®
« =
&= &«
© =
&= &«
© =
&= &«
© «
= &«
© «
= &«
P Number of rows: ... Number of rows: ... P
o Number of biscuits in each row: ... Number of donuts in each row: ... P
= =
@ Total number of biscuits: ... Total number of donuts: ... &
= =
@ &
= =
@ &
= =
@ &
= =
@ &
= =
@ &
g Number of rows: ... Number of rows: ... g
g Number of cupcakes each row: ... Number of mangoes in each row: ... §
= =
@ Total number of cupcakes: ... Total number of mangoes: ... -
= =
@ @
= =
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Number of rows: ... Number of rows: ...

Number of eggs in each row: ... Number of donuts in each row: ...
Total number of eggs: ... Total number of donuts: ...

Number of columns: ... Number of columns: ...

Number of stars in each column: ... Number of stars in each column: ...
Total number of stars: ... Total number of stars: ...

Number of columns: ... Number of columns: ...

Number of stars in each column: ... Number of stars in each column: ...
Total number of stars: ... Total number of stars: ...

Number of columns: ...

Number of stars in each column: ... Number of columns: ...

Total number of stars: ... Number of stars in each column: ...

Total number of stars: ...

Number of columns: ...
Number of stars in each column: ... Number of columns: .....

Total number of stars: ... Number of stars in each column: ...
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Total number of stars: ...
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Round One:

Repeated Addition (+)

Multiplication (x)

Comparison
(My product) (Partner’s product)
Round Two:
Repeated Addition (+)
Multiplication (x)
Comparison
(My product) (Partner’s product)
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Round Three:

Repeated Addition (+)

Multiplication (x)

Comparison

(My product) (Partner’s product)

Round Four:

Repeated Addition (+)

Multiplication (x)

Comparison

(My product) (Partner's product)

Round Five:

Repeated Addition (+)

Multiplication (x)

Comparison
(My product) (Partner’s product)
~——— _—
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Number of circles: Number of circles:
Number ofdots: Number of dots:
Total number of dots: Total number of dots:
X = » =
circles dots product circles dots product
T——— ~—

RN
CUCDEY | GG

Number of circles: Number of circles:
Number of dots: Number of dots:
Total number of dots: Total number of dots:
» - » -

circles dots product circles dots product
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Chapter Three
1 APPLICATIONS

Example problem: Farha went to the store to buy rolls for a big family dinner. At the store,

Rehdhdhddd

she bought 4 bags of rolls. Each bag contained 5 rolls. How many rolls did Farha buy?

Work Space:

Multiplication equation:

T~ \_//’—-'\“-;\-”'_‘f\:___/ i
—

1. On Samira’s walk home she saw 6 cars. If each car has 4 wheels, how many wheels
did she see in all?

Work Space:

Multiplication equation:

S, \____/—-/‘—:--—w_;k_-—'—-,-—\:__/ _—
T——= T~

2. Manal brought 6 bags of cookies to school. Each bag had 3 cookies in it. How many
cookies were there all together?

Work Space:

Multiplication equation:

B BH30a3s3s535050305350300533353803533533533035353535353555533533333535353539

=

=60
=60
=60
=60
=60
=60
=60
=60
=00
=60
=6
=60
=)
=60
=)
=60
=)
=60
=)
=60
=6)
=60
=6)
=60
=)
=60
=6
=60
=60
=60
=6)
=60
=6)
50)
=6)
50)
=6)
50
=6)
50
=6
50
=6
500
=6
500
=60
500
=6
500
=6
=)
=60
=)
=60
=)
=60
=)
=60
=)
=6
=)
=60
=)
=60
=)
=60
=)
=60
6]
=6
=)
=6
=6
=6
=)

B



Rehdhdhddd

3. Malek runs 3 miles each day. How many miles does he run in 7 days?

Work Space:

Multiplication equation:

P P L N

— S
4. A bag of oranges holds 4 oranges. How many oranges are in 8 bags?
Work Space:
Multiplication equation:

— e

5. It takes a rocket 7 seconds to travel one kilometer. How many seconds will it take
to travel 4 kilometers?

Work Space:

Multiplication equation:

e \_/"*\\’;k-/_“f\‘.___/ o
— p—
6. Each pack of pencils contains 8 pencils. How many pencils are in 3 packs?
Work Space:
Multiplication equation:
— e
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2 MULTIPLICATION

Use the 120 Chart below to complete the following:

» Color the multiples of 2 (color stated by teacher).

» Color the multiples of 3 (color stated by teacher).

* Respond to the prompts at the bottom of the page.

1 2 3 4 5 6 7 8 9 10

11 12 [ 13 | 14 | 15 16 | 17 | 18 | 19 | 20

21 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30

List the first 10 multiples of 2.

r L} r L} r r L} L} r

List the first 10 multiples of 3.

r r L r r r r r r

List all of the muiltiples you found that 2 and 3 share:

SHSBBIDIIFILBIIVILIBDIDDLBBBIDDBBBBDBDDBLBDIVLBIBDIDBLIDDDBBBBBBDBBBIBIDBBIBDBBIBDBB
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TABLE 2

)

Complete: & VA
(a) The number of legs of 2 hens
(b) The number of legs of 3 hens
(c) The number of legs of 5 hens

"
X
"

"
X
"

]
X
]

(d) The number of legs of 8 hens = ... x ... = ...
(e) The number of legs of 9 hens = ... x ... = ...
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TABLE 3

Complete:

]
X
]

(a) The Price of 2 pens = ... x ... = ...
(b) The Price of 5 pens = ... x ... = ...

1]
X
1

(c) The Price of 3 pens = ... x ... = ... LE3
(d) The Price of 7 pens = ... x ... = ...
(e) The Price of 9 pens = ... x ... = ...
(f) The Price of 8 pens = ... x ... = ...

=
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Use the 120 Chart to complete the following:

* Color the multiples of 10 (color stated by teacher).

1 2 3 4 5 6 7 8 9 10

11 12 13 | 14 | 15 16 | 17 18 19 | 20

21 | 22 | 23 | 24 [ 25 | 26 | 27 | 28 | 29 | 30

31 32 | 33 | 34 |35 |36 | 37 | 38| 39 | 40

41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

51 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60

61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

71 72 | 73 | 74 | 75 | 76 | 77 | 78 | 79 | 80

81 | 8 | 8 | 84 | 8 | 8 | 87 | 88 | 89 | 90

91 | 92 | 93 | 94 | 95 | 9% | 97 | 98 | 99 | 100

101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110

M| 112|113 114 (1151 116 | 117 | 118 | 119 | 120

Write the equations for the multiples of ten. The first two have been done for you.

10 X 1 = 10 10 X =
10 X 2 = 20 10 X =
10 X 3 = 10 X =
10 X a = 10 X =
10 X = 10 X =
10 X = 10 X =
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Use the 120 Chart on the previous page to complete the following:

L)
=6}
=6}
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* Color the multiples of 5 (color stated by teacher).

* Write the equations for the multiples of five. The first two have been done
for you.
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B O e e Y = - N )
® ®
g Directions: Find the missing factor in the triangles below. Then write the four g
g equations that go with the fact family. Use the counters to help you. g
® ®
® ®
® &
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4 2
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“ 24 18 >
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Chapter Four
1 POLYGONS

Classify According to the number of vertices:

B BH30a3s3s535050305350300533353803533533533035353535353555533533333535353539
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S \‘____,—./'—:-._T;k_.-—'—-,.—\\\__/ _—

— ~——

Directions: Find the missing factor by rolling the die or choosing a number card.
Record the missing factor in one of the problems below and then solve. When
finished, circle the facts that were the easiest for you to solve.

Mystery Multiplication

1 X = 2 X = 3 x =
4 X = 5 x = 6 X =
7 X = 8 X = 9 x =
10 X = 11 X = 12 x =

B BH30a3s3s535050305350300533353803533533533035353535353555533533333535353539
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g Circle all the words that describe the quadrilateral. §
=6 [T ] =01
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- 2. 3. -
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D = e = Y = = A = A 6
o )
g Directions: Find the missing factor by rolling the die or choosing a number card. §
g Record the missing factor in one of the problems below and then solve. When g
« finished, draw a rhombus around the fact that was the most challenging and a -
o ; 1 )
= trapezium around the easiest fact. =
i) )
i) ltio) )
o Mystery Multiplication "
= ystery p =
=) =6
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& 1 X = 2 X = 3 X = Ll
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& 4 X = 5 x = 6 X = =
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2 THE AREA

Directions: Determine the area of each rectangle.

DR dtdd

Rectangle #1:

Total area = square units

Rectangle #2:

Total area = square units

Rectangle #3:

Total area square units

B BH30a3s3s535050305350300533353803533533533035353535353555533533333535353539
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Rectangle #4:

Total area = square units

Rectangle #5:

Total area = square units

Rectangle #6:

Total area = square units
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Rehdhdhddd

Directions: Determine the total area of each shape.

Rectangle #1:

Totalarea = _________ square units
Rectangle #2:
Totalarea = _______ square units
Rectangle #3:
Totalarea = _________ square units
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g Rectangle #4: g
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3 DISTRIBUTION PROPERTY
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Directions: Break apart the arrays and, using the distributive property, write an
equation to show your work.
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‘Chapter‘ Five
1 PERIMETER

(1)
2)
)

Find the perimeter of each figure
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Using your ruler, find the perimeter of each figure:
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Directions: Look at the shapes below. Circle the shapes that are polygons and
cross out the shapes that are NOT polygons.

Y
e
S \‘____,—./'—:-._T;k_.-—'—-,.—\\\__/ _—
T—— T~
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12 - 6

20 - 4

21 =7

36 - 6

18 - 9

33 -3

20 - 2

40 - 5

30 - 6

45 - 9

2.

4.

6.

8.

10.

12.

14.

16.

18.

20.

2 DIVISION

12 = 3

14 - 7

15 - 3

72 - 9

36 -9

27 - 3

16 - 2

35 -7

55 - 5

30 - 3

1.

3.

5.

7.

9.

1.

13.

15.

17.

19.
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Part 1 Directions: Solve the story problems below. Include a drawing and an equation
for each problem. Be sure to label your answers.

1. Shaimaa is sewing a border on a square baby blanket. The length of the blanket is 45
centimeters and the width is 45 centimeters. How long will the border be?

e S iR i
—— —

2. Farouk is building a patio out of tiles. He wants the length of the patio to be 7 tiles
across and its width to be 6 tiles. How many tiles will he use in all to build the patio?
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3. Omnia wants to put a wooden trim around her window. The window is 4 meters tall
and 1 meter wide. How much wood does she need for the trim?

—~Sgg \____/—-/‘—:-._a_;k_/—-,-—\:___/ _—

g

4. A farmer is building a fence around his garden. If the garden is 8 meters long and 3
meters wide, how much fencing does he need to buy?

5. Arugis 3 meters long and 2 meters wide. What is the area of the rug?
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o 3 MULTIPLICTION STRTEGIES s
b EC)
b EC)
b EC)
b EC)
b EC)
& EC)
i) 6
Ef) )
i) =6
Ef) 6
i) =6
Ef) 6
o ®
i) =6
= i - == =
i) =6
= Use the place value to find the product: b
% (1) 5x70=5x .. tens= ... tens = ... %
=6
© Q) 4x60=4x__ tens=... tens=.. ... =
6
% 3) 2x80=2x .. .tens=.... tens= ... b
i) =6
O C) 5x60=5x .. tens= ... tens = ... P
) 6
20 3x40=3x .. tens=... tens= ... P
o =6
2 (6 3xT70=3x..tens= ... tens = ... =
i) 6
2 (7)) 8x40=8x..tens=.... tens = ............ %
o
20 6x90=6x ... tens= ... tens = ... %
i)
% 9 9x10=9x ... tens=.... tens = ... %
S (10) 8x20=8x...tens= ... tens = ... o
o 6
2 (1) T7x40=7x..tens=... tens = ... =
o =6
2 (12) 3x50=3x..tens=.... tens = ... b
o 6
% (13) 4x40=4x ... tens=.... tens = ... %
“ (14) 2x300=2x .. hundreds=.... hundreds= ... b
o 6
% (15) 3x400=3x ... hundreds = ... hundreds = ... %
- — - e @
=6l =6
o 6




Chapter Six

Directions: Solve the problems below. Split the multiples of 10 into 10 and the other
factor. For example, 40 has the factors 10 and 4.

Example:

8 x 40

(8x4)x10=320

3x90 4 x 80
( X )x‘IO: ( X )x10:
9x20 6 x30
( X )x‘lO: ( X )x10=
8 x50 7 x 30
( X )x‘IO: ( X )x10:
6x70 5 x 40
( X )x‘lO: ( X )x10:
e e
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MULTIPLY BY 9 STRATEGY
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T T

Directions: When your teacher gives the signal, solve as many problems as you can in
2 minutes. Use any strategy you learned in Lesson 52.

9 x 2 =_ 4 x 9 =_ 9 x 1 =
9 x 0 = 9 x 10 = 9 x 2 =
3. x 9 =_ 9 x 5 = 9 x 0 =
9 x 7 = 9 x 9 = 8 x 9 =
T x 9 =_ 9 x 0 = 6 x 9 =
9><4=_ 9><2:_ 9><10:_
9 x5 =_ 9 x 8 = 2 x 9 =
9><6=_ 1><9:_ 9x3:_
9 x 8 =__ 9 x 6 = 4 x 9 =
10><9=_ 9><7:_ 9x0:_
S \__/—\"—"“'—”*“—""_"’-—\:.__/ i
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i ddaddamdadmddadmdadmdmddaadnad g
=6
=6 =68
2 THE CAPACITY 2
=6 =68
o o
@ [ ] [ ) [ ] [ ]
=68
S Liters and Milliliters =
e e
=)
=6 =0
2  We use the graduated cylinder to measure the liquids =
=) =0
=6 =0
=) =0
=6 =08
=) =0
=6 =08
=) =0
=6 =08
=) =0
=6 =0
=) =0
=6 =68
2 2
=6
=t P L @
£ e = _ o
=6 =08
=) =0
=G =0
=) =0
e e
=)
=G =0
@ m—n S N —— @
" — — e —— e =
=0 =0
=G =0
=) =0
=63 =0
=) =0
=6 =)
=) =0
=6 =0
: :
=6
& ~ \\___7_\'—\._) ———— e )
g —_— - ~—— g
» =0
g Choose the unit you would use to measure =
@ the capacity of each. Write mL or L. o
=6 =0
. . . =0
= 10. a pail 11. a soup can 12. a drinking glass &
=6 =0
2 13. apond 14. asmallvase 1s. a watering can =
- T B —a =
=6 =0
=6 =0
=6 =0
=6 =0
=6y =0
=6 =0
=63 =0
=6 =)
=63 =0
=0 =0
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